G2(4) (mod 5)

blocks | defect matrix blocks | defect matrix
G 1 2 14 x 6 11 0 29253 = X19; ¥16
2 1 4 x2 12 0 47251 = X30, P19
3 0 3001 = X4, ¥4 13 0 47252 = X31, P20
423 0 3002 = X5,¥5
5 0 3501 = X6, Y6 2.G : 14 2 14 x 6
6 0 6501 = X10, P10 15 1 4x2
7 0 | 13001 = x15, 11 16 0 | 18001 = X309, ¥26
8 1 4x2 17 0 18002 = x40, p27
9 0 29251 = x17, P14 18 0 36001 = xa7, ¥31
10 0 2925, = X18, P15 19 0 39001 = x50, ¥32
20 0 39002 = X51;¥33
Block 1: | ¢1 @3 @7 @5 @9 13
Li=x1| 1 .
781 = X3 . 1 .
3641 = X7 1 . 1 .
364, = X8 1 1 . p1 = 1
3781 = X9 . . 1 p3 = 781
8191 = x11 11 1 o7 = 3631
8192 = x12 11 1 g = 363
8195 = v13 1 11 g — 318
819, =yia| . 1 . 1 1 . 013 = 2535,
32761 = X20 . . 1 1 1
32762 = X21 . . 1 . 1 1
32763 = X22 1 1 1
40961 = x28 1 1 1 1 2 1
Block 2: Y2 P18
65 =x2| 1 . w2 = 065;
40953 = X26 1 Y18 = 40952
40954 = X27 . 1
41601 = X29 1 1




Block 8:

13651 = X16
40951 = X24
40952 = X25
54601 = x32

Block 14: Y21 P22

127 = x33 1 .
1041 = X34 1 1
1042 = X35 1 1
3643 = X36 . .

20161 = X43 . 1
21841 = X44 1
21842 = X45 1
32765 = X46 .
37441 = X48 1
37442 = X49 1 1

40962 = 52 .
58241 = X53 1
5824y = x54 | 1

74881 = X55 2 1

— e

Block 15:
5601 = xa37
12601 = x3s
18201 = X41

18202 = x42

P12 = 13651
Y17 = 40951
¥30
©21
©22
¥23
: P28
1 ®29
1 ©30
1
1
1
1
w214 = 5601
Y25 = 12601
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